Pan bai 18 trang 14 SGK toan dai s6 16p 9 tap 1
D¢ bai:

Ap dung quy tdc nhan cdc cin bdc hai, hdy tinh:

a) V7. /63: b) v/2, 5. v/30. /48:
c) 1/0,4. ,/6,4; d) /2, 7./5.4/1,5.
Dap an:
a) Ta co:

VT./63 = /T63 = \/T.(7.9) = \/(7.7) 9
= V2.2 =V V3
=|7].13| =7.3=21

b) Ta co

VZ5./30. /18 = \/2,5.3048

= /2,5.(10.3). (16.3)
= 1/(2,5.10). (3.3).16

— 1v/25.3% 4
— V25.V/32./4
= /52./32. V£

= |5].|3]. |4| = 5.3.4 = 60
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c) Ta co:

V/0,4.,/6,4=,/0,46,4 = /0,4.(0,1.64)
=4/(0,4.0,1).64 = ,/0,04.64
— /0,04 /1 = /0,22 V&

—10,2|./8/ = 0,2.8=1,6.

d)

V2,7.v/5. /1,5 = /2,751,5
=41/(27.0,1).5.(0,5.3)
=1/(27.3).(0,1.5).0,5

= /81.0,5.0,5 = 1/81.0, 5

— VAL /0,52 = V2. 10,52

=19].]0,5| = 9.0,5 =4, 5.
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